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Mark Thomson's analysis of ( ) with  uses
two measurements to obtain the cross section: 

( ) ( ) ( ) ( ) ( )

ZH Z qq

ZH ZH BR visible ZH BR invisible
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In order to use this cross section measurement in our Higgs analyses 
we have to quantify the penalty associated with the fact that 

( ) ( ) is "almost model independent".  By how much must weZH BR visibleσ
∆ blow up ( ) ( ) to account for the fact that the efficiencies 

differ by 10% or more?
ZH BR visibleσ
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I propose an approach where we use all of our  measurements
for visible Higgs decays to obtain an estimate of the average signal 
efficiency for ( ) ( ).  It is then straightforward to pro
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pagate
the  errors to the error on ( ) ( ),   This means that
one must take into account the correlation between the  measurements 
and our ( ) measurement from hadronic Z decays when 

BR ZH BR visible
BR

ZH

σ σ
σ
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we fit
for couplings and total width.  It also means that we must develop  
analyses for all possible visible Higgs decays --  but this we have to do 
anyway to extract the best errors on Higgs coupl

BRσ

ings and total width.
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Let ( ) ( )
Number of signal events in ( ) ( ) analysis

 = Average efficiency for signal events to pass ( ) ( ) analysis
luminosity

1       =    where 
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  = number of events common to had Z recoil 
                  and  analyses

  = number of 
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events unique to had Z recoil analysis
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